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Instruction :  Marks for each question are given against question.

I. (a) How is the balance of payment account maintained ? 7
OR
Describe the following methods of exchange rate forecasting ;
(1)  Technical
(ii) Fundamental
(i11) Market based
(iv) Mixed

(b)  Answer any two in brief : 4
(1) How did the fixed exchange rate system work after the second world war ?
(ii) Briefly describe the major risks in foreign exchange transactions.

(111) Descnibe the characteristics of off-shore markets and Euro-markets.

(c) Answer any two In one or twe sentences : 3
(1)  What is the difference between net exposure and gross exposure 7
(i1) What are bid and offer rates ?
(i1i) What is TT rate 7

-2

(a) Describe the instruments of international money market. 7
OR

Deseribe the organization and functions of International Finance Corporation.

(h)  Answer any two in brief : 4
(1)  What is the importance of International Derivatives market ?
(11) How are GDRs issued ?

(111) Describe the types of bonds issued in the international finance market.
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(c) Answer any two in one or two sentences : 3
(i)  Why and when was Asian Development Bank established ?
(i1)  What are the main functions of World Bank 7
(iii)) What is the role of International Monetary Fund in increasing International

Liquidity ?

3. (a) Under international trade, to obtain trade finance, which two stages are required ?
Explain any one of them. 7
OR

Discuss policy of international Working Capital Management,

(b)  Answer any two in brief : 4
(1) Explain "ABC’ analysis.
(i1) What are optimistic and pessimistic estimation ?

(i11) What is netting ? Explain with illustration.

(c) Answer any two in one or two sentences : 3
(1)  What are blocked funds ?
(11) Describe any one source of finance for short term financing.

(111) Describe any one source of Tinance of post shipment.

4. (a) Explain the use of swaps for Risk Management. 7
OR
What are straddles 7 Draw and explain the pay-off profile of buyer for long
straddle and short straddle.

(b) Answer any two in brief : 4
(i)  What problems would arise if an exporter uses futures contracts to hedge risk ?
(i) How do forward rate agreements work 7

(iii) How do futures contracts provide price discovery ?

(¢)  Answer any two in one or two sentences : 3
(1) How many parties can there be in a swap 7
(11) Forward contracts are of what type ?
(111) What i1s a Tunnel ?
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3. Wrile the correct option :
(1)  Given that USD 1 = INR 66 and USD | = CAD 3.0 then CADI =INR ?
(a) 66 (b) 22 (c) 33 (d)y 11

(11) Match the following items of List — A with List - B :

List - A List - B
m. Maastricht Treaty w.  Price of gold in USD increased
n. Jamaica Agreement Xx.  Gold abandoned as official reserve
0. Plaza Accord y.  Devaluation of dollar

p.  Smithsonian Agreement z.  Introduction of Euro

Now select the correct option :

m n 0 P
(a) =z X y W
b}y w x ¥ Z
(c) x y W Z
d z y x w

(111) The monetary policy for the Eurozone is formulated by
(a) Bundes Bank (b) Banco de Franca
(c) Ewropean Central Bank (d) Swiss Bank

(iv) Who are not the players in international financial markets ?

(a) Small domestic companies (b) Multinational Corporations

(¢c) Transnational Corporations (d) Banks

(v) If a bank in India gives a customer the following rate :
INR 1000 = USD 3.96 then it is
(a) * Cross rate (b) Direct quote

(¢). . LOpen rate (d) Indirect quote

(vi) Which of the following is not a source of fund for World Bank ?

(a) Equity (b) Borrowings (c) Guarantee (d) Reserves
(vii) The International Development Association is also known as windows.
(a) Short loan (b) Hard loan (c) Long loan (d) Soft loan
ZvV-101 ¥
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(viil) Which of the following 1s not a part of Asian Development Bank 7
(a) Asian Development Fund
(b}  Asian Stability Fund
(c) Japan Special Fund
(d) Technical Assistance Development Special Fund

(ix) For a futures contract “Marking to market” is done
(a) Only on date of maturity
(b) On the contract date
(¢c) On the date the contract is entered into
(d) Everyday

(x) In a butterfly spread how many options contracts are involved ?
(a) One (b) Two (c) Three (d) Feur

(xi) Options are exercised when they are
(a) In the Money (b) At the Money
(c) Out of the money (d) All of the above

(xi1) Due to arrangement of netting
(a) Proportion of transactions are reduced
(b) Transaction transfer cost reduces
(c) It brings ideal coordination between foreign subsidiaries
(d) All of the above

(xi11) To whom minimum currency translation cost is applicable
(a) Two foreign subsidiaries
(b) One foreign and the other domestic
(c) Both domestic subsidiary companies
(d) Both (a)and (b)

(xiv) Which of the following is not applicable to international capital budgeting ?
(a) Peotental investment by parent company
(b) Retained earnings of subsidiary company

(c) Blocked funds
(d) Loan obtained by subsidiary from host country
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. A firm manufactures a product. Information regarding production of the product is as
under : 14
Production Capacity ;25000 units
Selling price per unit . X2
Direct material per unit v X3
Productive wages per unit r w2
Other variable expenses per unit : I 1.25

Fixed Cost : ¥ 75,000 per annum upto capacity utilization of 50%

T 90,000 per annum above capacity utilization of 30% and up to 80%
T 1,05,000 per annum on capacity utilization above 80%

Calculation :

(1) Break Even Sales

(i1)  Profit at capacity utilization of 40%, 75% and 90%

(iii) Sales of earn profit of ¥ 45,000

(1v) Margin of safety at capacity utilization of 60%

(v) If selling price is reduced to ¥ 22.5 per unit, sales can be achieved at 18,750 units,
is it advisable to reduce the selling price if current sales is 17500 units at selling
price of ¥ 25 per unit ?

(vi) Is it advisable to incur advertisement expenses of ¥ 12,500 instead of reducing
selling price and achieve sales of 18750 units 7

OR

Magic Ltd. manufactures a single product “Bush™. The following figures relate to
“Bush™ for a one year period.

Activity level 50% 100 %
Sales and production (units) 400 800
Sales value () 8.00.000 16.00.000
Variable expenses (3) (Production cost) 3,20,000  6.40,000
Fixed expenses (¥) (production cost) 1,60,000  1,60,000

Variable expenses () (Selling and Administration cost)  1,60,000  3,20,000
Fixed expenses (¥) (Selling & Administration cost) 2,440,000  2.40,000
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The normal level of activity for the year is 800 units. Fixed costs are incurred evenly
throughout the year and actual fixed costs are the same as budgeted. There were no
stocks of “Bush™ at the beginning of the year. In the first quarter 220 units were
produced and 160 units were sold. Answer following questions.

(a) What would be the fixed production costs absorbed by “Bush” if Absorption
costing is used ?

(b)  What should be the under/over recovery of overhead during the period given.

(c) What would be the profit under absorption costing ?

(d)  What would be the profit under marginal costing ?

() Why is there a difference between the profits under both the methods ?

-

Nisan Ltd. produces three products x, y and z from the same type of raw materials. The
supply of raw material is the limiting factor. Details about the production are as follows : 14

Particulars X Y L
Production capacity (units) 8,000 10,000 . 6,000
Selling price per unit (<) 250 200 300
P/V Ratio 20% 25% 30%

% of raw materials in total variable costs 42% 60% 60%
The annual fixed overheads are T 6,40,000.

Price per kg of raw materials is T 6

The maximum supply of raw material available 1s 288000 kgs. per annum.

Determine the optimum production mix for the maximum profit and find the estimated
profit of the production-mix so determined.

OR

A manufacturer produces two products A and B. Contribution earned from product A
< 30 per unit and from B product, T 40 per unit. The manufacturer wishes to establish the
monthly produetion plan which would maximize profit.

Production data are as follows :

Particulars A B Total availability
per month
Machine hours 4 hour per unit 2 hour per unit 400 hours
Labour hours 4 hour per umit 6 hour per unit 720} hours
Material (kg) 1 hour per unit 1 hour per unit 160 kgs

Maximum sales of product A 80 units and that of product B 40 units is possible per
month.

Find the solution by Graphical method of linear programming.
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3. (a)

(b) Discuss two factors affecting make or buy decision, -+
OR
Details of a company is as under :
4
Sales at 60% capacity (8000 units x T4) 32,000
Less — Variable cost per unit ¥ 2.50 20,000
Fixed Cost 12,000
Profit 00
There are three different opinions regarding present situation.
(i) The director believes that the operations be suspended until the market
conditions improve,
(i1) The sales manager suggests that the selling price has to be reduced, even to
maintain the present sales level.
(iii)) The General Manager stated that minimum ¥ 3,000 of fixed cost has to be
incurred even il operations are suspended.
What decision should the management take, if operations are continued, sales may
decline to 6500 units ?
(¢) Answer any one : 3
(i) State any three factors affecting temporary shut-down decision.
(i) State any three points to be considered while taken decision of replacement of
Equipment.
4. Write short note on any one : 14
(1) Just-In-Time
(2) Life Cycle Costing
(3) Target Costing
Zv-101 15 P.T.O.

Distinguish between marginal costing and Differential costing, 7
OR

Cost of a machine is ¥ 36,000. Estimated life 10 years A special order is received
which would require the use of machine for two months. Current net realizable
value of machine is ¥ 8,000, if it is used for the job its value is expected to fall to
T 7,000. The net book value of the machine is T 20,000. Current maintenance cost
is T 200 per month. With the use for the job, maintenance cost would increase to

T 250 per month. What would be the relevant cost ?



5. Select the best alternative from alternatives given for each question : (any seven) 14

(1) differentiates costs into fixed costs and variable costs.
(a) Differential costing (b} Absorption costing
(¢) Marginal costing (d) Profit volume ratio
(2)  Under fixed manufacturing overheads are also considered for valuation
of closing stock.
(a) Marginal costing (b) Absorption costing
(c) Relevant costing (d) Cost-volume profit analysis
(3) Cost — Volume — Profit analysis is the technique of accounting.
(a) Cost (b) Financial
(¢) Management (d) All of these

(4) Increase in contribution at two different levels of production and sales results into

(a) Same increase in variable cost

(b) Same increase in fixed cost

(c) Same increase in net profit

(d) Same increase in variable cost, fixed cost and net profit

(5) Profitability of a product is decided on the basis of when material is a

limiting factor.
(a) Contribution per unit (b) Contribution per kg
(c) Contribution perlabour hour (d) Net profit per unit

(6) Linear Programming is the technigue of for solving business problems
(a) Operations Research (b) PERT and CPM
(¢) Marginal Costing (d) Cost Accounting
(7) is the impaortant factor in Linear Programming.
(a) Constraints (b) Cost
(c). Contribution (d)  All of these
(8) approach ensures zero mventory.
(@) Just-in-time (b) Life cycle costing
(c)  Target costing (d) ABC analysis
(9) Under cost is set by changing product design.
(a) Just-in-time (b) Life cycle costing
(c) Targel costing (d) Incremental costing
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